Sine Rule and Cosine Rule

. in 48"
2. Using sine rule: % = % (M1)(Al)
= sinB= %sin48= =0.5308... M1)
= B=arcsin(0.5308) = 32.06 (M1)(Al)
=132° (nearest degree) (Al) (C6)
Note:  Award a maximum of /5 marks] if candidates give the answer in radians (0.560).
[6 marks]
QUESTION 2
@ O Ais Go) Al A1 c2
(i) Bis(0,-4) Al A1 c2
Notes: In each of parts (i) and (ii), award CI if A and B are
interchanged, C1 if intercepts given instead of coordinates.
(b) Area —1—x4xﬁ M1
2773
= % =2.67) Al C2
QUESTION 1
(a) Angle 4=80 (A1)
A% - o)
sin40°  sin80°
AB=3.26 cm (A1) (C3)
(b) Area = %acsinB - %(5)(3.26) sin 60° (MI)(AI)
= 7.07 (accept 7.06) cm? (Al) (C3)
| Note: Penalize once in this question for absence of units. |
QUESTION 1
Using area of a triangle = %absin C M1)
20= %(1 0)(8)sinQ (accept any letter for Q) (A1)(A1)(Al)
sinQ=0.5 (Al)
POR = 30" or % or 0.524 (A1) (C6)




